PDISPLAYS2GO0

LPGP36AV7

Max
10kg
[221bs]

Camera

Max
150kg
[330Ibs]

Stand

30-84"
76-212cm

MAX 800*400

] ) 2 PERSONS
®\J RECOUMENDED
S



3PCS

1PCS 1PCS 1PCS
A D E F
NN 6mm 5mm 4mm  3mm
14mm  17mm M8 | M6X15 //
1PCS 1PCS 4PCS | 6PCS | 1PCS 1PCS 1PCS 1PCS
G H I
B EIEEEE N
M8X25 M6X25 M5X15 M4ax15| M8 M6 M5 M4
8PCS 4PCS 4PCS 4PCS |4PCS 9PCS 4PCS 4pPCs| 12PCS
V
— +
LCD
= V=200mm
VI=200mm
— -

www.displays2go.com



Tilt up 5 degree

www.displays2go.com



A(17mm)

www.displays2go.com



3

(M6X12mm)

\

www.displays2go.com



Keep 3mm space betwween metal plate B & cabinet,
please tighten after pillar insert.

e
i

www.displays2go.com



6

Attach upright to cabinet by sliding Piece B into the slot

on Piece 5.

3 DOOD. §

www.displays2go.com



www.displays2go.com



www.displays2go.com

I A} N\
Iaaaaaaa:aaaaaaaaaaaé\ B\

R [

|

I
&N l
== ' e P e T e P e B e B e R e B P G W G O G W\ \‘\
R | \ X/
= : |

[




www.displays2go.com



www.displays2go.com



1 3 Forlargerthan 200X200VESA.

V=200mm
VI=200mm
V=+200mm
VIZ=200mm
V=200mm
VI=200mm

For 200X200VESA.

LED

www.displays2go.com



16

Forlarger than 200X200 VESA.

V=200mm
VI=200mm

www.displays2go.com



V=200mm
VI=200mm

17

_—
LL
>
o
| o
gl o
9
> |8
oo QL

%\\

www.displays2go.com



o000 &
o000 &

ﬁ

€

o000 ¢
oo &

1

<

™

(

19

www.displays2go.com



20 L

Remove back cover from
Piece 11 and assemble onto pillar

21

www.displays2go.com




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16



